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=(*—x)("—x—12)
=t(t—12) — =12 X
=1—12t
=(*—x)—12("—x) 1= 2504
=r'—2x"+2"— 122"+ 122
=z'—2x'—112"+12x

3 (x—1)(x+2)(x—3)(x+4)
=(+x—2) (" +x—12)
=(t—2)(t—12) — & +a=t2 X2
=1"—141+24
=(2"+2x)"—14(2"+x)+24 — =2+ 0hY
=x'+2x’+ 2’ — 142" —14x+24
=x'+22°— 132" —14x+24

024 (z—1)(z—2)(z—3)(x—4)
={(z—1)(z—4)}H{(x—2)(x—3)}
=(2*—5x+4)(2"—5x+6)

ol x’—5x+1=09A £’ —5xr=—10]2&
(FoAR ) =(—1+4)(—1+6)
=15
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025 O & +6*=(a+b)*—2ab=2"—2-(—1)=6

(a—b)’=(a+b)’—4ab=2"—4-(—1)=38

@ d+b'=(a+b)’—2ab=(—3)"—2-2=5
(a—b)’=(a+b)*—4ab=(—3)"—4-2=1

B a*+b'=(a—b)’+2ab=5"+2-2=29
(a+b)’=(a—b)"+4ab=5"+4-2=33

@ a+b=(a—b)*+2ab=(—2)"+2-3=10
(a+b)’=(a—b)*+4ab=(—2)"+4-3=16

[]26 )a+b, 4,40
2@ +b°=(a+b)’—3ab(a+0)
=5'—-3-3-5=80
B’ +b*=(a+b)*—3abla+b)
=1"—3-(—2)-1=7

027 2,2 2 2+,3,9
@ ' +y'=(x+y) —2zyol B2
6=2"—2xy .. xy=—1
L2ty =(x+y)’—3xy(x+y)
=2'—3-(—1)-2=14
B’ +y'=(x+y) —2xyolm&

21=5"—2xy Sxy=2
Lty =(x+y) —3xy(x+y)
=5'—-3-2-5=95

028 (z—y)*=(z+y)*—dzyolm 2
9=(—1)"—4xy Soxy=—2
sy =(x+y) —3xy(z+y)
=(=1°=3-(=2)- (-1)=—7

029 Wa—b,3,36
Qa—b"=(a—0b)*+3ab(a—0b)
=(=1)°+3-(—=5)-(—-1)=14
B3 a@’—b'=(a—b)*+3ab(a—0b)
=(—4)"+3-3-(—4)
=—100

030 m2,2,1, x—y, —3, —36

Q2+ =(z—y) +2zyo| B2

6=(—2)"+2zxy . xy=1
L2t —y'=(x—y) +3xy(x—y)

=(—2)"+3-1-(—2)=—14

B +y'=(x—y) +2xyolm&
14=(—4)+22y . xy=—1
2=y =(x—y)’+3xy(x—y)

=(—4)°4+3-(—1)-(—4)=—52

018 === =0

031 (a+b)*=(a—b)*+4abolmz
12=2"4+4ab o oab=2
Sad—=b=(a—b)’+3ab(a—b)=2"+3-2-2=20

032 11, x+y, 1,52
@) x+y=2/2, xy=—20]2%
24+y'=(x+y)’—3xy(z+y)
=(2/2)"—3-(—2)-2/2=28/2
B)xr—y=2, xy=20]1&
r'—y'=(x—y)'+3zy(x—y)
=2°43-2-2=20
@) x—y=2/2, zy=—10]E=2
r'—y'=(x—y)'+3zy(x—y)

=(2/2)°+3-(—1)-2/2=10/2

033 =494 ab=2 (" a>0,b>0)
oltf, @’ +b*=80|1 &’ +b°=(a+b)’—2abo|EE
8=(q+b)"—2-2, (a+b)*=12
Satb=2/3(" a>0,0>0)
Sd b =(a+b)’—3ab(a+b)
=(2/3)°—3-2-2/3=12/3

L)'

a a
(3)(&—%)2*@4—%)2—4 (—5)°"—4=21
(4)a2+#:< %Z—FZ (—3)+2=11
(5)<a+%)2:<a—%>2+4*1‘+4*5
(6)<a+%>2:<a—%>2+4—42+4—20

=(—5)+3-(—5)=—140



036 a:xz+%:<x—%>z+2:(ﬁ)2+2:7

b:xg—%:@c—%)g—i-?;(x—%)

=(/5)°+3-/5=8/5
Soatb=7+8/5

037 ©v®3,3,7
®) er%:SO]EE

x3+%:(x+%>3—3<x+%>

=3"-3.3=18
(2) x#00| D2 2’ —4x+1=02] FHE 2= U1
I S . 1_
x 4+1‘_0 ..x+x_4

D2+ =(2+L) —2=r—2=14

sy 1 1V i)
@x+x3—<x+x> 3<x+x
=4°—3.4=52
(3) x# 00| B2 x*—5r+1=02] FHE r=2 JxH
1

x—5+—=0 x—i—i:S
x x

o, L (L AV e
Da'+—y=(z+) —2=5—2=23

s, 1 1V i)
@x—i—xg—(x-l—x) 3<x+x

=5"-3-5=110
0138 v®1,1,3
@x—%zlol_‘:’_i
s 1 _( 1V (_i>
X x3—<x x)—i—?)x p
=1°+3-1=4

(2) x#00| B2 x*—3r—1=02] AL r=2 JH
z—3—L=0 s p—L=3
X X
1 1\
OF s 2=<x—}) +2=3"+2=11

x
@ x3f%:<xfi>3+3<xfi>

x X X

=3"+3-3=36
(3) x# 00| B2 x*—22r—1=02] AL r= Y

z—2—1=0 o r—t=2
x z

2, 1 1)\ o2 _
OF +?— r— ) +2=2"+2=6
1

. 1\ 1
V- p=(a—g) +3(e—3)
=2°+3.2=14

039 x#00122 2’ +2—1=09] PAS 2= J3=H

_1_ R S
x+1 I—O R 1
x3+2x2+31*§+%*%

xr x X

:<x3—%>+2<x2+ L )+3<x—i>
x x x

=(==2) +ole= D)ol (2 o) re(=—2)
={(—=1)’4+3- (=D }+2{(—1)*+2}+3-(—1)
=—4+6—3=—1

040 1) ab+bc+ca, 2.5

Qad+b+c=(a+b+c)*—2(ab+bc+ca)
=3'—2-(—1)=11

B+ +c*=(a+b+c)*—2(ab+bc+ca)
=(—2)"—2-(—1)=6

@ a+b"+c*=(a+b+c)’—2(ab+bc+ca)
=2"—2-(—2)=8

G)a*+ b+ =(a+b+c)*—2(ab+bc+ca)
=(/6)'—2-2=2

4] O &+ +=(a+b+c)* —2(ab+be+ca) A

6=2"—2(ab+bc+ca) Soab+betca=—1
@ —1,8
Q@& +b*+*=(a+b+c)*—2(ab+bc+ca)olA
11=5"—2(ab+bc+ca) Soab+bctca=7
Q@ d+b'+c°

=(a+b+c)(@+b+c*—ab—bc—ca)+3abc
=5(11—7)+3-4=32
GO+ +c*=(a+b+c)—2(ab+bc+ca)
=3"—2-2=5
Q@ d+b'+c°
=(a+b+c)(@+b+c—ab—bc—ca)+3abe
=3(5—2)+3-(—3)=0
WO+ +c*=(a+b+c)—2(ab+bc+ca)
=4"—2-1=14
@d+b+c
=(a+b+c)(@+b+c*—ab—bc—ca)+3abc
=4(14—1)+3-(—6)=34

042 &+0*+c*=(a+b+c)* —2(ab+bc+ca)
=2"—2-(—3)=10
LA+ —3abe=(a+b+c) (@ + b+ —ab—bc—ca)
=2{10—(—3))=26
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043 (1) 200, 39951
(2100=¢= ¥
101X (10000—100-+1) —99
=(a+1)(@—a+1)—(a—1)
=(ad’+1)—(a—1)=d"—a+2
=100"—100+2=999902
(3)2°, 2% 255

1 1 1
:2<1—?>(1+?><1+?>

1 1 1
:2<1—?><1+?>:2 1‘?)
.21 255
o 28 128

%(3—1)(3+1)(32+1)(34+1)(38+1)

—_— (3—1)=1

(3°—1)(3°+1)(3'"+1)(3°+1)

(3*—1)(3"+1)(3°+1)

3°—1
2

w2t a=2, b=16°|22 a+b=18

I N e N

(3*—1)(3*+1)=

045 (1) 40°+2b
(2) 2xy—>5
(3) —b*+2ab—3
4) dac—3b+8¢*
) (dxy+xy’ —2x°y) +< f%xy>

=(dzy+xy—22"y) x(—x—?’y>:6x—3y—12

©) (a'6*—32%5") +<—%ab2>2: (d'6°—32°b") +<%a2b“>

=(a'b*—3a’b") X a;Lb‘*
2
=412
046 1) 2x—7,10
(2) —x +4
1+2) =2 +22+5
—x'—2x

4x+5
4xr+8
—3

=2t 2x+5=(r+2)(—x+4)—3

020 == =ol

(3) z’+4x +3
z-1)e 3~ 22
= x
4’ — x+2
4" —Ax
3x+2
3x—3
5

L3 —x+2=(x—1) (£ +4x+3)+5

(4) 25+ x +3
r—2)22r'—32°+ 2—3
20" —4x’
4+ x—3
' —2x
3x—3
3xr—6
3

so20t =32+ —3=(r—2)(22°+x+3)+3

047 V1, —22°—2—2, —dx+4,22—1, —4dz+4

(2) r —1
2’—2x—1)x'—32°+ x—3
2r—22"— x
—x’+2x—3
—r’+2x+1
—4

L =30+ x—3=(xr"—2r—1)(x—1)—4

(3) 2r +1
2+1)28° 42— x+1
2x° +2x
x2’—3x+1
A 2 &
—3x

Lottt —x+1=(2"+1)(22+1)—3x

048 4x +5
2 —x+1)dr’+ 2 —3x+3
42" — 42"+ 4x
52°—7x+3
5x°—5x+5
—2x—2

webA Q(x) =4x+5, R(x)=—2x—20]|2&
Q(1)+R(1)=9—4=5

049 1) z+2,32—1,32—1, 2z, 1
QA=(2*+x—2)(2x+2)+2x+3
=22+ 22"+ 22" +2x—4dx—4+22+3
=2x"+4x"—1
3 A=(2"+1)(22+1)—3x—2
=22+ 2"+ 2x+1—32x—2

=22+ —x—1



050 £*+32*—8=A(x—1)
Alx—1)

— 494
=x*+32"—4 £
LA=( 305 —4) - (x—1)

=r’+4x+4

051 2,34, —3 —2
Bt —3x—3, UmA  —

2 —3]2 3 =2 5
—6 9 —21
2 -3 7| —16

2" —3x+7, UHA L —

315 4 -1 =2 1
5 8 6
5 9 6 7

52"+ 92+ 8x+6, YHA| 1 7

052 11,4,1,5

T 2x’+2x+1, YA 15

@ —1/4 -1 0 2
—4 5 —5

4 =5 5 —3

T 4x’—5x+5, UHA| L —

3 —2|3 0 —2 0
—6 12 —20
3 —6 10 | —20

32" —6x+10, LA L —

@211 -3 0 5 0

2 —2 —4 2
[ 2

1 —1 —2 1
Bt —2r+1, YA 2

053 1|4 0 3 —6
4 4 7
4 4 7 1

Soatbtcetd=1+4+4+1=10

054 ma*—2,3
=2, gHA)  —

'44zx +4

1) 2"+ 32 —4

xr’— x
4 —4
4" —Ax

4dr—4
dr—4

2 1
3 3 2 —1 1
1 0
3 3 0 1

3’2t —x+1= <x7%> (3x*+3x)+1

:3<x7%>(x2+x)+1

=Bx—1)(2*+x)+1
e, UmA 1

3 —2]1 0 —2 1
—2 4 —4
1 —2 2 | —3

2—2r+1=(x+2) (" —2x+2)—

:2(x+2)<%x2*x+ 1)*
:(21+4)<éxzfx+ 1)*

R %xzforl, Uz —

055 5.y % 5Qx), UiA 1 R
(2>f(x)=<:c

=(3x+2)-

)Q( )+ R=1(32+2)Q(2) + R
% 50Q(2), 4l A R
6 f2)=(2—3 )Q(a) + R=4 (20-3)Q(z) + R
:(fo?))-%Q(x)JrR

fB Q) UA L R

056 /()= (52—2)Q(z) + R=5(2—2 )Q(x) + R

(x——) 5Q(x)+ R
S5 05Q(x), YA

K cigzs BB~

057 2A+3B=2(42*—22"+5) +3(22°— 72’ +3x+1)
=8x'— 42" +10+ 62" —212°+9x+3
=14x"—252"+9x+13

(58 34—2(A—B)=3A—2A+2B
=A+2B
=(42°—22°+5) +2(22°— 72+ 32+1)
=42°— 22" +5+42°— 142"+ 6242
=8x"—16x"+6x+7
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(59 A—2B+C
=(4x*—22"+5)—2(22°— 72"+ 32+ 1)+ (£’ —2°+2)
=4x" 22" +5— 42"+ 142" —6x—2+ 2 —2*+2
=2’ +11x’—6x+5

060 (A+C)—(B+20)
=A+C—-B—-2C
=A—-B—-C
=42’ —22°+5) — (22°— 72"+ 32+ 1) — (" —2*+2)
=42’ —22°+5—22"+ 72" —3x—1—2*+2"—2
=x'+6x"—3x+2

061 3A+X=B°IA
X=—3A+B
=—3(+2zy—9") + (2" —xy—54")
=—32"—6xy+3y+2'—xy—5y
=—22"—Txy—2y

062 3(X+2A)=Bol* 3X+6A=DBolu=
3X=—6A+B
=—6(’ 32" +x—4)+(32°—9x+6)
=—6x"+182°—6x+24+32"—9x+6
=—62"+212"—15x+30
S X=—22"4+72"—52+10

063 A+4(X+C)=2BoNA A+4X+4C=2Bo|n&
4X=—A+2B—4C
=—(22"—42"+6)+2(52"—2x+1) —4(32°— 42" —3x)
=—22"+41"—6+10x"—4x+2—122°+ 162"+ 122
=—4x'4+202°+8x—4
S X=—2+5+22—1

06h (a—1)(a+1)(*+1)(*+1)=(a*—1)(&*+1)(a"+1)
=(a"—1)(a"+1)
=a'—1

065 272*—108x"y+ 1442y’ — 64y’

066 (x—3)(2*+32+9)=2"—3=2"—27

067 £+ 49" —dxy+2x—4y+1

068 (z+y+2z2) (2 +9*+ 42" —xy—2yz—2z2)

=2+’ +(22)°—3-x2-y- 2z
=2+’ +8z°—6xyz

022 === =ol

069 (’+32°—x+4)(—2x"+2x—5)] A7 A
P —52°+ 62"+ 22° =32

wehA 2°0] A4 3

070 Q+x+2’+2°) ' =0+z+2’+2°) A +x+2"+2%) 9
Ao 2" 2+ 2’ + ' =32’

up2ha] 2* 9] Alg= 3

071 (x—29)*(x+y)=(2*—62y+ 122y —8¢") (x+y) 9
A A £y 'y —6x’y=—52"y

w2t 2’y Ag= —5

072 &+0*=(a+b)*—2abANA
5=(—1)*—2ab Soab=—2
&' +b0°=(a—b)*+2abl|A
5=(a—b)"+2-(—2), (a—b)*=9
SLa—b=3("a>0b)

073 ¢«—b=3, ab=—20|02
&—b"=(a—b)*+3ab(a—>b)
=3"+3-(—2)-3=9

07h ¢+b6=—1,a—b=3, &’ +b*=50]02
a'—b'=(a’—b")(d’+b")
=(a—0b)(a+b)(a"+b*)
—3.(—1)-5=—15

075 a+b=2/3, ab=20]2
&+0"=(a+b)’—3ab(a+b)
=(2/3)°—3-2-2/3=12/3

076 «—b=4, ab=10182
a&—b"=(a—b)’+3ab(a—0b)
=44+3-1-4=76

077 a+b=4, ab=10122
ﬁ+i_ a&+b _ (a+b)’—3abla+b)
a b ab ab
4'—3-1-4
i —

52
078 x2+%:<x7%>2+2:(71)2+2:3

79 (4 2) (o) a1

=5 (v 0<z<1)

Gk
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080 x3—%:<x—%>3+3<x_i>

x
=(—1)°+3-(—1)=—4

081 z=400122 2*+32+1=09] FHAL r2 L} =1

43+ Li=0 Lo+

1,
X X

' x2+i:<x+i)zf2:(73)272:7
082 z+1=—30lm2

P R .
z  x x

(e + 5 )+ (25 )+ (241
Ne2) —dler ) H(e+2) 2 +ar2)
={(=3)"=3-(=3)}+{

(—=3)'—2}+(—3)
=—18+7-3=—14
083 & +0*+c*=(a+b+c)*—2(ab+bc+ca) A
12=2"—2(ab+bc+ca) Soab+bctca=—4

084 & +0°+c=(a+b+c)(d*+ b+ —ab—bc—ca)+3abc
=2{12—(—4)}+3-2=38

085 (ab+bc+ca)’=a’b*+b'c*+c*a’+2abc(a+b+c) oA
(—4)’=a’0*+ b+’ +2-2-2

LAV Ca =8

086 o171 419) 2pel L(2*—1)2 Fotal

%(22—1)(22+1)(24+1)(28+1)
:%(24—1)(2“+1)(28+1)

B s _ 2%
=212+ =2+
som=3.n=16

087 0120 4] Fuel -£(9—1)2 Fha

%(9—1)(9+1)(92+ 1)(9*+1)(9°+1)

=%(92—1)(92+1)(94+1)(98+1)

:é(94—1)(9“+1)(98+1)

:%(98—1)(98“)
1o _33271
78(9 D= 8
Som=8, n=32

088 (& mAj=le) Zole) ) =4(a+b+c)=40°714
a+b+c=10
=, (AYol)=2(ab+bc+ca) =750 &
E+b+c"=(a+b+c)*—2(ab+bc+ca)
=10"—75=25

s (A go)) =(a’ +b'+ ¢ =/25=5

089 2x +5
r—2x+3)22°+ 2'— 3x+1
20" —4x’+ 6x
5r°— 9x+1
5x°—10x+15

x—14

S 245, YA L x—14

090 —2x +1
1) 22+ — x+1
—2x° —2x
4 x+1
xz +1

x

S22+, YA L

091 212 -5 -3 2
4 —2 —10
2 —1 —5]| —8
B2 —x—5,UMA : —8
092 —1]1 —s 0 3
—1 7T =7
1 —7 7 | —4
B —Tx+7, UHA L —4
1, _, 5 _;
2
1 -3 1
2 —6 2 0
2x377x2+5xf1:<xf%>(2x276x+2)

=(2z—1)(z*—3x+1)
LB’ —3x+1, UHA 0

094 f(x)=(42+3)Q(2)+R
:4<x+%)Q(x)+R
:<x+%> -4Q(x)+ R

S 4Q(x), UHA L R
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K 2 a5t unixima) -
0199 W x @0 3O X

096 ®22—1=2(x—2)+3

097 0.0.0

(98 0.0.0

099 1) a=1,b=5 c=1

2 a:l’ b:o’ c=—3

(0
)
B)a=2,b+1=—4,¢c=—3 Soa=2,b=—5¢c=—3
(4)
(5)

3

4)a=2,0—3=—6,c=2 Soa=2,b=-—3,c=2

S)\a=1—b,2=—b,c=—3 Soa=3,b=—2,¢c=—3
100 Wa—2=0,6=3 .. a=2b=3

2 a—b=3,a+b="7
T A& dAgsto] &W a=5, b=2

B x’+2x+3=axr’—(a—b)x+co|2&E
a=1,a—b=—2¢=3
Soa=1,b=3,¢=3

@z’ tax+6=2"+(b—2) 2"+ (—2b+c)x—2c0| 22
b—2=0, —2b+c=a, —2c=6
a=—T7.b=2c=—3

101 3z+7=ax+2a—bo|B=
a=3,2a—b="7
Wb =3, b=—10]|0& q+bh=2

102 @ 2¢, 2a, —1, 6
(2) gl z=0& thPstH 2=—2a
o]

103 9ol x=1& Hstd 0=1—a+b
oFHo] x=2% thshA 1=5
webi] ¢=2, h=10|E2 gh=2

024 m=n=ol

106 )x+3,3,4,7,3,4,7
Q) 2'+axr’+bxr+c=(2"+3x—4)(x+1)+3x—2
=x'+4x*+2x—6
o] Ao] xof] gt F54lo|HE
a=4,b=2¢c=—6
()22’ +ax’+bx+c=(x—2) (22" +4x+3)+9
=22'—5x+3
o] Alo] xof] gt F54lo|HE
a=0,b=—5,¢c=3
@) 22+ ax’+bx+c=(x"—x+1)(20+1)+2x+3
=2x"—x"+3x+4
o] Alo] xof] gt F54lo|HE

a=—1,b=3,c=4

105 wo,0,1,1
(2) Z01 A 5A1& kol thato] Aelst
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o] A]o] kol| tfgl gF5-Alo| R

=)

z+3y+5=0 e ®
3x—y—5=0 e ©
O+F3XOE3H =1 oo ©

O©F Qo Yt y=—2

(3) FAR 54 ko Histe] AE)sid
(x—2y—1)k+(22—3y+5)=0
o] 4Jo] kol T3t G5-4o|m 2

x—2y—1=0 e @)
20—3y+5=0 e ©
O—2XOL e y=—7 oo ®

©L Ol HYstH r=—13
(4) o)W 541& kol thste] Ae]shd
(22+3y+6)k+(3x—y+9)=0
o

o] 4J0] kol gt FEAjolm 2
20+3y+6=0 e @)
3x—y+9=0 e ©
O+3XOEH rz=—3 o ©

©= Ol ddstd y=0

106 50111 5412 kol thsted ejsta
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o] Ajo] kol th3t 54012z
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(3) 1 Z7} Y2 B2 02 ¢<0
Z0] Y2 QEZ QJOHFE gh<0 .. bH>0
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